2013 HSC - Economics

. Band 3/4
Question 21 (10 marks) Sample 1 Question 21
(a) A highway currently passes through a country town. The government is proposing 4

to build a bypass that diverts highway traffic away from the town.

Discuss the costs and benefits of this proposal.
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Question 21 continues on page 11
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Question 21 (continued) 2013 HSC - Economics
Band 3/4
. it . Sample 1 Question 21
(b)  Explain the effect that globalisation has had on environmental sustainability, 6
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End of Question 21
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